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Double Jpsi cut number



each cut

Total entries 85903 88355
mu cut(mu pt > 3.5, |mu etal|<2.4) 17569 23326
Jpsi cut(Jpsi pt>10, |Jpsi etal<2) 10659 13398

trigger cut Jpsi mass cut 55091 53512



cut flow

Total entries 85903 88355

trigger cut and mass cut 55091 53512
mu cut&& trigger and mass cut 15040 20674
mu cut&& trigger mass cut 7290 9832

&& Jpsi cut



cut flow

Total entries 85903 88355

trigger cut 63073 61116

mu cut(>3.5GeV)&& trigger cut 16614 22802
mu cut&& trigger cut 8082 10866

&& Jpsi cut
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MC(DPS)
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MC(DPS) official sample
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MC(SPS)
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MC(SPS) official sample
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Total entries 85903 88355

trigger cut and mass cut 55091 53512

mu cut(lleading mu pt >5 )&& trigger 14712 20235
and mass cut

mu cut&& trigger mass cut 7290 9832

&& Jpsi cut



Total entries

trigger cut and mass cut

mu cut(all mu pt >5 )&& trigger and
mass cut

mu cut&& trigger mass cut
&& Jpsi cut

85903 88355
55091 53512
3713 5082
3077 4121



Total entries 85903 88355
trigger cut and mass cut 55091 53512
mu cut(mu pt >2 )&& trigger and mass 54953 53424
cut
mu cut&& trigger mass cut 9426 12140
&& Jpsi cut

Cross section 11.50+-0.36pb 12.94+-0.36
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